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12. When a fall in prine_nf a commodity
reduces total expenditure and a rise in
" price increases it, price elasticity of demand

will be : -

() 1 Le¢o
(bh) <1

© =1

(d) Infinity

36. The rate at which the ¢onsumer iz willing
to substitute one good for another without
changing the level of satisfaction is known
as
©  (a) Marginal rate of substitution
(b) Marginal rate of technical substitution
(¢) Diminishing marginal utility
(d) Equi-marginal wility

60. Which of the following factors affects
individual's demand for a commodity ?
1. Price of the commodity -
2. Income of the consumer 3,'.{ o
3. Prices of related goods

Select the correct answer using the code
given below ;

(@ 1 and 2 only
(b) 2 and 3 only
(€} 1,2 and 3
(d) I only
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108. The Reserve Bank of India defines narrow
money as

. fa) CU (currency notes + coins) + DD
t C(D (net demand deposits held by
commercial banks)

(o) CU + DD + saving deposits with
post office savings banks

fe) CU + DD + net time deposits of
commercial banks

fd) CU + DD + net time deposits of
commercial banks + total deposits
of post offices



109. Suppose the price of mangoes increases
from € 50 per kg to ¥ 75 per kg. Due to
this, the demand for mangoes declines

= from 100 kg to 50 kg. Which one of

t— {0 the following is the price elasticity of
demand for mangoes?

fa) 4 ® 3
fc) 2 @ 1

110. Multipliers will be lower with which one
of the following?

fa) High marginal propensity to

F consume
/CD () lLow marginal propensitv to

consume
fc) High marginal propensity to invest
(d) Low marginal propensity to save
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11. According to the Law of Diminishing 3
Returns, in a production function when
more and more units of the vanable
factor are used, holding the quantities

4 X
- - (/" LRI )
of a fixed factor constant, a point 1s (f,// & R
reached beyond which e AT, B
’ %Q/‘ ((/ //

(a) the marginal revenue will diminish Nl
(b) the average revenue will diminish

| @ the marginal product will diminish
(d) the marginal product will increase



12. Which one of the following 18 NOT
correct ?

(a)

(b)

(©)

(d)

The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

In the long-run, a competitive firm
earns only normal profits

In equilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

13. Zero price elasticity of demand means

(2)

(b)

(c)

(d)

whatever the change in price,

there is absolutely no change in
demand

for a small change in price, there
is a small change in demand

for a small change in price, there
is a large change in demand |

for a large change in price, there is
a small change in demand



14. Suppose that the price of a commodity
increases from T 90 to T 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160

units. Then, the coefficient of the price
elasticity of demand will be

(a) 10
(b) 2-4
(c) 05
(d) 2-0

15. What is the real interest rate on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%
(b) 34%
(c) 14%
(d) 4%



57. In a closed economy with no taxes,
if the marginal propensity to consume
is always 0:90, then the value of the
multiplier will be

(2) 1000
(b) 1-00
(c) 0-90

(d) 0-10

58. According to simple Keynesian theory,
 the slope of the aggregate consumption
curve against income is

(a) Positive
(b) Negative
(¢) Zero

(d) Infinity



59. Which one of the following is an
example of a price ceiling ?

(a)
(b)
(©)

(d)

Fares charged by Airlines in India
Price printed on biscuit packets

Minimum support price for cane
Zrowers

Minimum wages fixed by state
Governments

60. Which one of the following statements
is true with regard to an economy
which is on its production possibility
frontier ?

(@)

(b)

(©)

(d)

The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

There is no limit or constraint for
the economy in the production of
goods and services

The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

Its production possibility frontier
is an upward sloping curve
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34, Which one of the following has the

largest contribution to the Gross Tax

Revenue of Government of India in
20019-20 (BE)?

(a) Goods and Services Tax
(b) Cﬂl‘pﬂr&ﬁlﬂﬂ Tax
(c) Customs .

(d) Union Excise Duties
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49. Which of the following goods are
included to estimate food inflation in
India ? -

1. Wheat
2. Paddy
3. Tobacco

4, Sugar |

Select the correct answer using the code'
given below :

(a) 1,2and?3
(b) 2,3 and 4
() 1,3and4

(d) 1,2and4
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62. Fixation of price levels for wheat and
rice by the Commission for Agriculture
Costs and Prices (CACP) is .an
example of ?

(a) Administered Price

- (b) Market Price

(c) Control Price -

(d) Support Price
63. Mnﬁile phone operators market in
- India is an exampie of

(a) Monopoly

(b) Mnﬂnpolisﬁc Competition

(c) Oligopoly

(d) Perfect Competition
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61. Which one of the following was
recognized as “invisible hand’ by Adam
Smith ?

(@) Govemrﬁent

(b) Market/Price I"v.[f':chanisml
(c) Judiciary

(d} Legislature
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31. Which one of the following statements
about production possibility frontier is
not correct?

fa) The production possibility frontier

(b)

(c)

(d)

slopes downwards to the right as
the resources are limited.

The different combinations of
various goods and services given
the available resources and
technology are denoted by the
production possibility frontier.

Any point on or inside the
production possibility frontier is
attainable under the existing
technology and resources.

On the production possibility
frontier, the output of one
commodity can be increased
without changing the output of
another commodity.



33. Which one of the following functions as
an automatic stabilizer in the context

of fiscal and monetary policies of an
economy?

(a) Personal income tax

(b) Reverse repo rate of bank
(c) Open market operation
(d) Bond price

34. Broadly both birth and death rates are
low in which one of the following stages
of demographic transition model?

(a) High stationary stage
(b) Early expanding stage
(c) Late expanding stage
(d) Low stationary stage



32. How is the magnitude of price elasticity
for an individual good determined?

1. By the degree to which the good is
a necessity or luxury

2. By the extent to which substitutes
are available

3. By the rate of income growth in
the economy

4. By the relative importance of the
good in the consumer’s budget

Select the correct answer using the code
given below,

(@) 1,2 and 3
(b) 1 and 4 only
fc) 1,2 and 4
(d) 3 and 4

35. Which one of the following is a pull factor
for migration?

(a) Natural disaster
(b) High wage

(¢) Housing shortage
(d) Low income



56. Which one among the following
statements is not correct?

(a)

(b)

(@)

When the economy grows slowly
than its potential, the
unemployment rate rises.

Structural employment occurs
when jobs are eliminated by
changes in demand for particular
goods or due to automation.

Recession in the economy leads to
cyclical unemployment.

At full employment, the measured
unemployment rate is negative.




57. The amount by which the equilibrium
level of real GDP exceeds the full
employment level of GDP is called

(a) recessionary gap

(b) inflationary gap

(c) income multiplier

(d) automatic stabilizer



58. For anything to be recognized as money,
it needs to have which of the following
characteristics?

1. Act as an intermediate in the
exchange process

2. Standard unit for quoting prices
3. Must be easily divisible

4. Have higher value in alternative
uses

Select the correct answer using the code
given below.

(@ 1,2 and 4

(b) 2 and 3 only

(¢ 1, 2 and 3

(d 1,3 and 4



60. On the basis of employment conditions,
the economy is divided into

(a)
(b)
(e)
(cl)

organized and unorganized sectors
private and public sectors

seasonal and disguised sectors

primary, secondary and tertiary
sectors
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97. With reference to Indian economy, the

term ‘bad bank’, frequently mentioned
in news, refers to

(a) an asset reconstruction company
(b) an asset management company -

(c) a bank with huge ‘nonperforming
assets’

(d) a bank that has become insolvent
107. A non-banking financial company
cannot
(a) give loans
(b) make investments
{c) borrow from bank

(d) seek demand deposits from public
and cannot issue cheques



109. The proceeds from disinvestment are
included as

fa) non-tax revenue
(b) revenue receipts 11

(c) capital receipts

([d) tax revenue

110. GST is a/an
(a) destination-based consumption tax
(b) origin-based production tax

(c) destination-based sales tax on
transaction

(d) origin-based tax on sales
transaction

111. In the first quarter of fiscal year
2020-21, GDP contracted by 239
percent and in the second quarter,
by 7-5 percent. The Economic Survey,
2020-21 preferred to call it a recovery in

(a) U-shapc
(b) V-shape
(c) K-shape
({d) W-shape
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67.

Adequacy of foreign exchange reserves of a
country is captured by which of the following
indicators ?

: Reserves to import ratio

2.  Reserves to external debt ratio

3.  Reserves to GDP ratio
4,

Reserves to monetary aggregates

Select the correct answer using the code

below :

(a) 1and 3 only
(b) 1,2,3and4
(¢) 2,3 and4only
(d) 1,2and4only




26.

27.

An Indian businessperson buys shares in a
British car company. This transaction will be
reflected in :

(a) Balance of Trade, but not in Balance of

Payments.

(b) Balance of Payments, but not in Balance
of Trade.

(e) both Balance of Payments and Balance
of Trade.

(d) neither Balance of Payments nor
Balance of Trade.

Which of the following are High Frequency
Indicators of the Indian economy ?

1. Power Consumption
2. IIP General Index
3. 10-year G-sec yield

Select the correct answer using the code
below.

(a) 1only

(b) land2only
(¢) 2and 3only
(d 1,2and3



28. Suppose an Indian citizen makes an
investment abroad and earns a positive return
on her investment. Which of the following is
correct 7

(a) Her income is part of India’s GDP, but
not part of India’s national income.

(b) Her income is part of India’s national
income, but not part of India’s GDP.

(c) Her income. is part of both India’s GDP
and national income,

(d) Her income is neither part of India’s
GDP, nor its national income.

29. If the Cash Reserve Ratio is lowered by the
RBI, supply of money in the economy will :

(a) remain unchanged.
(b) decrease.
(¢) increase.

(d) have ambiguous impact.




65.

Fiscal deficit in the Union Budget means :

(a) the difference between current

expenditure and current revenue.

(b) net increase in the borrowings of the
Union Government from the Reserve

Bank of India.

(¢) the sum of budgetary deficits and the
net increase in internal and external

borrowings.
(d) None of the above

Which one of the following is the largest
component of revenue expenditure in the

Union Budget 2022 — 23 ?

(a) Interest payments

(b) Defense expenditure

(¢) Expenditure on healthcare
(d) Subsidies



68.

If all the people of the economy increase the
proportion of income they save, the total value
of savings in the economy will either decrease
or remain unchanged. This phenomenon is

known as :

(a) Crowding out
(b) Crowding in

(¢) Paradox of thrift

(d) Paradox of prosperity

The banks are required to maintain a certain
ratio between their cash in hand and total

assets. This ratio is known as :

(a) Cash Reserve Ratio (CRR)

(b) Statutory Liquidity Ratio (SLR)
(¢c) Central Bank Reserve (CBR)
(d) Statutory Bank Ratio (SBR)




